
Solving One Step Equations  

Name ________________________   

For single digits, like 8, write 08 in the puzzle. 

 

 

 

 

 

ACROSS 

Sove for x 

DOWN 

Solve for x 

x – 1 = 2 

 

x – 8 = 4 

 

x + 7 = 12 

 

x + 13 = 35 

 

x – 16 = 21 

 

x + 4 = 48 

 

x – 2 = 17 

 

x – 6 = 17 

 

x + 4 = 13  

 

x – 6 = 2 

x + 2 = 10 

 

x + 3 = 18 

 

x – 1 = 1 

 

x + 6 = 13 

 

x – 12 = 12 

 

x + 2 = 41 

 

x – 4 = 36 

 

x – 2 = 11 

 

x + 4 = 33 

 

x + 12 = 40 

ACROSS DOWN 

1.    3 

2.    12  

3.    5 

5.    22 

 

 

6.    37 

7.    44  

8.    19 

9.    23 

11.    9 

12.    8 

1.    8 

2.    15 

3.    2 

4.    7 

5.    24 

6.    39 

7.    40 

8.    13 

9.    29 

10.    28 

 

ANSWERS: 

The answers are to the left and are 

flipped upside down.  Do not look at 

the answers until you have completed 

the puzzle. 


